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Stitch from left to right along the pattern.§
Repeat from 1 to 2 and half stitch back.
2 and 5 will be the same hole.

: Stitch the loops in a row like : pyll out
achain. Gooutof 1and go :
into 2, then put the thread :
: on the needle and put it out : thread. No needles stick into the Ethe stitch and start stitching from

Whipped Chain S French Knot S

\!

§Stitch thread too much.
‘When stitching the corner, finish

/ N 2 s

: \J : stitch evenly s:tﬁ:t the threads do r:got Wrap the thr@% twaice around
overlap along the lines of the pattern;.  the needle that came out of 1.
When stitching round objects, stitch :  Insert the needle perpendicuar t
™ from the center to outside, and then: 2 and tighten the thread before
:_stitch the rest. :pulli

‘ the chain stitch that was stitched
*first, pass it through, and wind the

sinside the ring again.

: cloth except at beginning and end
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of the stitch.
Let's stitch with reference to the design and the cover image.
% Designs of the same shape are stitched in the same way.

(Stitch the inverted pattern in the same way.)

(S= Stitch ) O is the number of threads. (Example: @=2 strands)
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